[”' we | —|
‘ ChapTer 10 In-Class Solutions ’ TOPI @ l
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Ex.32 | An engine delivers 135 hp fo The propeller at 2400 rpm,
a> Torq',ue = Pwer = Brwe(am.ve\oa‘*v\ = Tw
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Ex. 38 || A womzan with 2 mzss 50 “j is si‘ggcl‘mj on The rim

of a large disk that is ra‘)‘a:Hnj at 0,860 rev/sec «.. .
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Ex. 43 Under some cireum stances a stac czn (,'Qnafﬁc nte zn
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The Yo‘\rl_t?. A yo-yo is made from ‘wo umform disks

each with 2 mzss m and radivs R connected by =2 Jigbf

axle of radius b.
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Ex. 5¢ A cerlain qyroscope precesses af a rale of ©.50 rad)s

— when used on earth, 3ﬁw = O.M,Sj g = Jexeth =18 '5".3_
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